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SEC. 1MATH

JUNE REVIEW PACKACGE
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% Name:__'.,.’_,___'_—.————.—‘

MARCH: MATH SUMMATIVE

PART A: NO CALCULATOR

N Lablsg "2

Put the LETTER of the correct answer on the Answer Sheet.
Vou have 25 minutes for this section.
Each question 15 worth 2 marks. Value of ihis section: 20 marks.

1. A televiscn anhouncer revealed ihat the amount of money wan in the Loito 6/49
© was seven million thirty-seven thousand sixty-five dollars.

Which number represents this amount? -

A) 73765

B) 737-065
- C; 7 037 065

Dy 703765

% o A sateliite iravelled a distance of 36500000 km.
’ Express this distance in SCIENTIFIC NOTATION,

A) 0.365 x 108
B) 3.65 x 107
C) 3.85 x 106°
D) 365 x 109

3. The temperature in Edmonton was -16 0C at noon.. Later that aftemoon ihe
terpperafure rose to 7 OC. ~

By how much did the temperaturs rise?

A) -709C
B) 70C"
C) -230C
D) 230C

4, Duinga rally, Stacey drank 1 12 Hives of water. Jamal drank 3/4 of a lire,
and Jilian 2/3 of alire.

How many litres did they drink in total?

A) 2283
B) 2 7/12
0) 2

D) 2 1112



5. Using the following pumbers:
7,9,11,18, 15, 17, 19, 21, 23, 25, 27,29, 31, 33
What fraction of these numbers are COMPOSITE NUMBERS?
A M7
B8) 1/2

C) 3/7
D) 5/14

6. What is the value of n?

"h=18
8 12
Ay 10
B} 6
C}).12

Q)- D}y 9

7. EXpress 95% as a fraction in lowest terms,

A} 95/100
B) 19/ 20
C) o 10

‘D) 38740

8. Find the missing arigle: '

"A) 600
B) 500
C) 450
D) 300 .




g. Which expression is equivalent to
8+2x5+3x4

A) (8+2)x (B +3)x4
B) [(8+2) x5+ (3x4)
Gy B+2x(B+3x4)

D} 8+ (2x5)+(3x4)

10. In which statement below c'an-the

Ay 12 ? 2
B) 32 ? 3
C) .12 ? 3
'p) 50 ? s

? Ibe replaced by an equal sign (=) ?



Name:

MARCH: MATH SUMMATIVE

PART B: SHORT ANSWERS

Answer in the space provided. No marks will ba given without appropriate
work shown. ‘

Calculator is perimiited,
You have approximately 25 minutes, _
Each question is worth 3 marks. Value of this secticn: 30 marks,

1, Evaluate

80 + (2 x 3.5)2
T 324 (1)

D

2. For one week last January, Alison and Ciiff recorded the outside temperature avery day
at noon. The results are shown in the fable below. :

Sunday Monday Tuesday Wednesday Thursday Friday Saturday
-69C  -150C  -200C -40C 80C 100C  -80C

a) What was the average temperature at noon during this week in January?

,’(' ~]|I
J

L b) On which days of the week was the temperature greater than the average
: temperafure? '



s—tsing thefollowing Aumbers? |
78 10% 0.87 3/2

A) Arange the numbers in order from largest to smellest.

B) What is the surm of the largest and smallest aumbers?

4. Simplity

@t

Sl

X<
e lm
¥
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5 Shamiris giving out 48 invitations to fis party.
On Wednesday, Shamir handed out 1/3 of the invitations.

On Thursday, he handed out 877 of them.

A) What fraction of the invitations have been handed out?

B) How many invitations are still to be handed ou’c‘?'



6. Study this patiem made with matches. "‘% |

- E——_- = B = —— A —— "N .mnzﬂﬁm’m_
"

5 1 e e 0 O R B

ATy

Figure | Figure 2 Figure 3 Figlira 4

A) State the number of matches in the ﬁext two figures of the pattem,

- There are and malches.

B) Which one of the followirg 4 rules can be use

d to fird number of matches
used for any figure in the pattern? (Letx rep

resent the number of the figure.)
C0e3) @) (BB)  (3x-1) |

The rule ié

C) State the number of maiches that would be found in fiure 40,

Figuré 40 has ___ matches.

7. Find two numbers whose product is (-

24) and whose sum is (+5).
Remember to prove YOUr answers,

Show ydur worls.




+ n frea VCR if he could answer ihe

3. Pefer ope s i careat boxénd-found-a-ieketios 2 €
stion. He gave 180 asan answer. .Explalnlwhy..he shouldnot

‘1‘% follpwing skil testing que
get the prize. : o
The question was: . _ @
(-6) + (10)2 & (0.05) - 23-7)

on. Place the comect letter beside cach shape.

9.. Identify each polyg
C. octagon

A hexagon - -B. pentagon D. quadrlateral .

o e e s e e e

o s m————— e s

stions.

10. Refer to the diagram below t0 anewer the following que

p———

ﬁ-v
" - » cr— e e e
[

S————— )

A) Angle 1 and angle 2 equal 1800 . They are _ angles.

. B) fangie isequal 1o 350., then angle zéquals degrees. . ,

' ) Angle 23 is equal to degrees. -
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\I 1) B g e e T et - TS ) s L. .
') ANDREW WORKED IN AN ORCHARD PICKING APPLES IN 5 DAYS HE PICKED ... ...
THE FOLLOWING NUMBER OF BOXES OF APPLES. - -
DAY NUMBER OF BOXES PICKED .
1 325
2 5 55
3 5
4 3 14
5 1 34

*EACH BOX. WHEN FULL, CONTAINED EXACTLY 40 APPLES.

*AN INSPECTOR FOUND THAT /10 OF THE APPLES PICKED WERE
NOT GOOD. _

OF THE APPLES ANDREW PICKED, HOW MANY GOOD APPLES WER'E LEFT?

@ (OPERATIONS: ADD/MULTIPLY FRACTIONS;SUBTRACTION) ,

WORK

(5 THEREWERE - GOOD APPLES LEFT,
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F)OUH PUBLI-SAC GUYS LEAVE THE TRUCK AT 7: 15 AM. THEY EACH DO A
DIFFERENT ROUTE OVER AND OVER. ‘ ' |

T TAKES EAGH GUY A CERTAIN TIME TO COMPLETE THEIR ROUTE
AND RETURN TO THE TRUCK,

GUY 1 - 15 MINUTES
GuYy 2 - 45 MINUTES
GUY 3 20 MINUTES
GUY 4 30 MINUTES

*IF THEY CONTINUE THEIR ROUTES ON SCHEDULE THE FOUR GUYS
MEET BACK AT THE TRUCK:

A) IN HDW MANY M!NUTES‘? B) IN HOW MANY HOURS? C) AT WHAT TIME?

_ (OF’ERA'HON: LOWEST COMMON MULTE-PLE)'

WOBRK
k) HOW MANY MINUTES ? | |
B) HOW MANY HOURS? ___ @
lG) AT WHAT TIME ? o - | =7
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T 2om HER BIRTHDAY PARTY FOR 2 SEOPLE, INCLUDING HERSELE, JOSEE
"2 A GHOPPING LIST WITHTHE o2 [GWING AMOUNTS OF EAGH [TEM:

AMOUNT TEM

500 GRAMS POTATO CHIPS
g LITRES : COLA

12 GOODIE BAGS
36 MINI-PIZZAS

*00PSi FIVE PHONE CALLS TO CANCEL AND NOW ONLY 7 PEQPLE,
[NCLUDING JOSEE, ARE COMING.

WHAT AMOUNT OF EAGH ITEM DOES SHE NEED TO BUY NOW ONLY 7 ARE
ATTENDING THE PARTY ?(each person would always eat ihe equivalent amount) -

(OP ERATIONS: PROPORTION, GHOSS—MULTIPL!CAT\ON)

WORK

.

e AMOUNT OF EACH ITEM SHE HAS TO BUY ARE:

GRAMS OF POTATO CHIPS
LITRES-OF COLA '
GOODIE BAGS

. MINLPIZZAS 5




A)T THE AVRIL LAVIGNE CONCERT, THERE WERE- 120 SPECIAL SEATS ™=
AVAILABLE NEAR THE STAGE. :

"*40% OF THESE SEATS WEF\'E .BOUGHT FOR $100.00 EACH BY Mix'ge
AB GIVEAWAY PRIZES IN A CONTEST.

*1/3 OF THESE SFEC.IAL'UEATS WERE BOUGHT FOR $125.00 EACH BY

HER MONTREAL FAN CLUB

. MRS, MARRIOTT BOUGHT THE REST OF THE SPECIAL SEATS FOR
$100.00 EACH TO GIVE TO STUDENTS AT GENTENNIAL .

A WHAT WAS THE TOTAL MRS. MARRIOTT HAD TO PAY FOR ALL THE .
TICKETS SHE BOUGHT? o Con .

B) WHAT WAS THE TOTAL AMOUNT PAID BY MAS. MARRIOTT, MIX ‘96 AND
THE FAN CLUB TOGETHER? o :

(OPERATIONS: MULTIPLY AND DIVIDE DECIMALS; MULTIPLY FRACTIONS.)

WORK

AYTHE TOTAL AMOUNT MRS MARRIOTT PAID WAS
B) THE TOTAL PAID FOR ALL 120 TIGKETS WAS - .

5.



/—“ 5
= \\) A) DEEP SEA DIVER DECEDED TO INVESTIGATE A SHIPWREGK THAT WAS CN
=" THE BOTTOM OF THE OCEAN: _

*I'T'WAS 56. METERS BELOW THE SURFACE.
*THE TEMPEH’ATURE OF THE WATER AT THE SURFACE WAS 18°C

*=0QR EVERY 4 METERS SHE DOVE TOWARD THE SHIPWREGK THE
WATER TEMPERATUHE DECR EAS:D BY 0.3°

WHAT WAS THE WATER TEMPERATURE AT THE SHEPWRECK ON THE FLDDFI
OF THE OCEAN?

~ (OPERATIONS: INTEGERS; DRAW A DIAGRAM)

WORK
fﬁ@ i 'THE WATER TEMPERATURE AT THE _S:H!FWREGK'WAS G
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T%-IREE TYPED OF SPORTS DRINK ARE AVAILABLE AT LOBLAWS SELLING g :
FOR THE FOLLOWING PRICES,

1) GATORADE - 5.0 LITRES FOR $ 5.50
2) POWERADE - 7.5 LITRES FOR $ 8.50
3) QUENCH - 6.0 LITRES FOR $8.00 (2ND BOTTLE - 40% OF“’)
" <JOHN BOUGHT ONE BOTTLE OF GATORADE.
*MONIQUE BOUGHT ONE BOTTLE OF POWERADE.
“NAYNE BOUGHT TWO BOTTLES OF QUENGH. - |
A) WHO 'GOT THE BEST DEAL?  B), WHAT WAS THE COST PER LITRE 7

(CPERATIONS: L_JNIT PRICING; MULTIFLY/DIVIDE DECIMALS)

WORK
A) ___ GOT THE BEST DEAL-FOR THE SFORTS DRINK.
) THE BEST DEAL GOSTS _ PER LITRE.




a

>/ IL A NGLE EFG IS A RIGHT ANGLE TRIANGLE
«ANGLE EFG MEASURES 40°
“AE. BE & CD EACH MEASURE 4.5 CM
| WHAT I8 THE MEASURE OF ANGLE EBCY

B . ‘
A , C

G
40° Diagram not drawn to scale !

F

(OPERATIONS: SUM OF ANGLES OF TRIANGLE: OPPOSITE ANGLES;
\SOCELES TRIANGLE; SUPPLEMENTARY ANGLES.)

:C Q | WORK
MEASUREMENTS: 1) ANGLE FEG = s
| 2) ANGLE "AEB= .
3) ANGLES EAB & EBA = .
THEREFORE, '
) ANGLE EBC=




W)

Express the decimal 0.04 as g percent.

a) 400%
b) 40%
c) 4%

d) 04%
e) 0.04%

Fred tg 180 cn tall: Elten is 160 cm tall. Express Fred’s
height to Ellen’s height as a reduced ratio.

a) 180t 160

b) 18te 16
c) 9to8
d 8to9
g) loto 18

In Mr. Smith'’s Grade 7 Math class, the results of the tast
ratio test were as follows:

John 11 out of 15
Peter 15 out of 21
Mary 28 out of 40

-Pu’; the scores it order from best t0 worst.

a) John Mary Peter
b) Mary John Peter
c) Peter John Mary
d) John Peter Mary
g) DPeter Mary John



N

ﬂ 4. Solve: _
| ()= (6)x(7-4)

a) -3
b) -11
c) +1i1
d) +3
e) =39

5. Place the following from smallest to largest.

33 33% 0.333 g

. 3

a) 33 0333 33 5

0 . 3

® b)  33% 0333 3 33
o 0333 5;’. 33 33%

dy % 33% 0333 33
&) _3’_ . 33 3'3% 0.333

6. Jill had $200 in the Bank of Canada. She was paid 7%
- interest for one year. What was the total in her account at the -
end of the year?

a)  $14.00

b)  $140.00
Q) $200.00
d) $214.00
o) $340.00

\_
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_ ~f—Themsp gealeis tom: 100 ke distance betweeh
% Montreal and Ottawa ol the map 1S 2.4 COL How farift
iitometres is it bOWEeL the two cities? | | @
2) 24 km
p) 10km
¢y . 24km
d) 100km
e) 240 km

3. Use g proportion to sotve.

7 frisbees cost $22.47.

How much do 4 frishees cost?
ay $3.21

b) $19.26

c) $25.69

d) $12.84

e) $9.63

O

9.  There arc 55 players on @ football team. Forty percent live m
Greenfield Park. How many players live in Greenfield Park?

a) 18
b) 22
¢y 33
d 40
ey 55

1. Express 639 000 000 m Scientiﬁc notatiom.

2 639%10°
b 639 x 10°
o) 639% 10°
dy 639x 102
g) 639% 10 |
| @




7Y 1L Solve: N
* 1,3,1 >
3 42
a) l-g—'.
. ol
b) z
13
c) o
3
d) T2
e). -,?-
12. 2 ofthe 40 students in Bcology class fook their ecosystem
8 .
jars home. :
C) How many took them home?
a) 64
b) 20
cy 32
d 25 .
e} 40
13.  Complete the factor tree for 100.
What is the sum of the prime numbers?
a 14
by 29
ey 52
D 89
i 0 6) IOG ’
N ‘



%) 14. What pairs of ratios ate cquivaleat 1o 16:207

2y 20:16end 45
by 48:60and 8:10
¢y 4:5and 10:15
d) 32:50 and 48:60
) 4:5and 32:50
57
15. Reduce to lowest terms: 133

(@

> - ©



Answer:

4. . George’s weekend hobby is building model cars. The actual
length of his mode] Mustang is 0.72 m. Georges needs to

length of his drawing if the scale is 1em:4em?

draw a diagram of his car for a school project. 'What is the |

b

o

Arnswep:

£




Which :s the better value?

(2L)

R

£
- %

a) 6kgof flour for $8.70
b) 9 kg of flour for $12.60

Calculate the unit rate for eac

6. I the figure on the right,

,,;.,‘[%1 ! : ‘ . o
e m AB =m BE.

. Angle BECis 60°.

. Angles PAC and RAB are.

straight angles.

N——"

h using proiaof’cions.

What is the measure of angle

RAP?

Give areason (in
step of calculation.

Explanation and Calculations:

words) for each

AR LA M S B RS RS st R A Y
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ERTIIT SRR

77 Imtriangle ABT, AU 15 perpendicular io BC,

B L8 [ 35° N\ ¢
5
ay What is the measure of angle DAC?

3lz]1]o
Answer:
@ | b) What is the measure of angle DAB?
Answer:
8.
How many squares will
appear in the 10® term of
| this sequence?
Create the rule and solve.
Zj1]o

o

5
o



M
4 which fruit they

9. T A sample group of “student
preferred “among the following four: orange, pear, apple a:qd o

peach. Here are the survey results:

1 student out of 4 prefers oranges.
?ZE of the students prefer pears.

30% of the students prefer apples.
The other students prefer peaches
what is the pre.feéred fruit of

1fo] According to these results,
these students? \

’% 4 : '
L e ©
10. If the passing mark is 60%,
NOT pass?
¢ 55 on 85 on her History test

e 40 on 65 on her French test
s 50 on 90 on her English test

which test (or tests) did Susan

[2]ile

o

Answer: .




A core’ class decided to do a fundraiser. Lucy

.....

Lollected plastic  bottles a;nd cans

ea/“\
Tach  item collected  was worth £

5 cents (1 nickel ).

"The class collected & total of 146 .cans and 220
bottles. |

- How much money was collected altogether ?

Work

e

B- Calculate 23 % of the total items collected. |

Work

% What Is two fifths of all the bottles ?

Work
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Z. ' Writing an Order Form From a Menu .
T — ' ‘ —
- . - foe's Meny - ‘

Sandyriches S up - Dessert . © B&tiags_a

Swiss Cheese  1.89 . cup 1.00 Pie = 1 175. soda small - @95
Harm 210 .hdwi 175 Ice Cream 1.10 . large 1.45
Hamburger  1.50 "Cake 225 tea 0.85
Cheeseburper 1.80 ~ Fruit 1.00+ coffée 1.00

' milk 110

. . . l‘l

JFill in the order form for 3 customers. One person, @

~ ordersd cup of soup, a cheese ‘sandwich and a large
soda. The other two customers both order a hamburger,:

a large soda and 2 piece of cake.

Question

A- How much will it cost fér all 3 customers
to eat if the GST is7 % and the PST is 7.5 %.

B- Calculate a 15 % tip (use the subtotal ).



M
e '
- —
|

o - Subtotal o
-y A
-- ps7 |

— L

GrandTotal \ ‘

:()
b-.ﬁ"
+..You want to rent 2 ca.f for a short 7#day.'trip'.. If you
plé,ﬁ to travel 1800 km -ovér the course of this fxip,

which rental company offers the better ‘deal ?

$12 4 dagt $1d adag
asid : and
8¢ per ﬂiﬁanw&e \kak pe filonsebie

M e i rrm e e B TP TR AT WRE Y



9. Joon sold  magazines at the Bell Center. Here are his

sales for the last 3 hockey games. : )
Monday.........$ 600. - - | O
Thursday........$ 450 c : ' : -
Saturday......... $950

John earns . $50 per game, -

He also eamns a 20% commission on his sales.

A- How much did he earn on Monday ?

| Work A

B- What were his total earnings for 3 days ?.

Work B




M SWER SHEET,

& 1) (50 marks) ANSWER ALL QUES

. g+ (20-4x7 q
What is the resutt of o .

A) 4.2
B) 3

C) 120
D) AQ T S

oratures are SHOWD below for various parts of

' a) Whatisthe {owest temperature 02 record?

-

ghest temperaiie on record?

Mlnﬂm

‘Canada,




4] Which of the following statements is true?

A) 24+.63=37
B) -18+98=-11¢
O 9+3°=29
D) 52% (-3 =225

\ | &
_] - The shaded-area representsa house on a lot, What percent of the Jot areg does the house :
occupy? ' ' ' '

Lor

A) 15%
B) 20%
C) 25%
D) 30%




~nich of the following staternents ig true?

e

2
> —
5

7
>.—--
10
4 .2
5 25
9 5
—l—
5 4

] Simon, Maria, Philip .nd Chloe realized that this was the 245 time they had skied
sngether. While on the ski-lift, they amused themselves by trying 10 express the
/_C)mber 24 in different ways. Which one of them was correct?

A)
B)
C)
D)

Sh;;lbnéays:2+8 % 2+ 4
Maria says : 18 +(-2)—8x3
Philip says : 3 % 6+12+2
Chloe says : (12—-4)+4x2

3] In which of the following can the 1 be replaced by an equal sign (57

A)
B)

~

1201’ C) 202
28 1 82 D) 5000 5

%y

91
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PART B; (30 marks) Answer all questions in the space prov1ded ' @
SHOW YOUR WORK. ' |

After the mathematics contest, your teacher thought he would try writing the results of
the students in different ways. You are responsible for posting the rankmgs of the
students, Complete the table below by writing the names of the students in decreasing
order of theu' results. .

. ./

Here are the resulis : ' SHOW All YOUR WORK HERE

Monica answered 144 questions out of 200 correctly.

Jonathan was successful m% of the contest.

Frederick inéorrecﬂx answered f— of the questions.

Valerie was successful in O 725 of the contest. ' ' g@
N - -g\ ’
,/

Paul's final mark was % : - - . - -

Maria incorrectly answered 24 % of the questions. _ Y

MATH CONTEST

PLACE NAME

I* . | (best score)

‘Hy



~ast January, Julie kept record of the outdoor\cmy/mure taken at the same time each
d gave it to her Ecology teacher.

day for five days an
Here are her results
 DAYOFTHEWEEK  TEMPERATURE ™
(n°C)
Monday ‘ .
Tuesdzay 2
Wednesday 0
Thursday 3
Friday -1

alculate the average temperature for

a) Write a chain of operations that can be used to ¢
ese 5 days. (Do not answer the question).

b) What was the average (mean) temperature for the week?

71 Given this sequence of mumbers : 5, 7, %, 11, 13, 15, 17,19, 21,23, 25,
. a) Circle the prime sumbers in the line above.

b) What fraction of these numbers are prime numbers?

-



. 2

"4 | A chameleon is able to stretch its tongue to one and a half times the length of its body in <
~ order to catch the insects it feeds on. . :

a) How far cari a 46 cm c}la'meleon stretch its tongue o catch an insect?”

b) Exﬁfess your answer inn millimétres,

&)

5] To solve the following problem, use a proportion.

At a Centennial bake sale, for every 7 brownies the students sold they sold 2
chocolate chip cookies. If the students sold 28 brownies, how many chocolate chip
cookies were sold? o ' "



2

4 among some teenagets to determine Whi

oh kind of pizza they

y survey was conducte

iked best.
Here ate the results :
5B MOST POPULAR FIZZAS AMONG TEENAGERS
KIND Frequency
Cheese 24
pepperoni ANV AN Y IEVANT
: EINEDE
Tfamburger s Ness) N
/) NN 6esl
C\”Mdressed 0\ 8T N\ee sl N
L.
557200 teenagers .. - w7
a) What was the total number of students surveyed?
b) What faction of stadents preferred all dressed pizza?
agers prefer all-dressed pizza?

- o What percentage of teen:

- AA



7] Three fiends meet in a restaurant, Rach

%] come here every § days". Eric says, @
"I corie every=12 days". Tania then says, "I come every 18 days",

In how many days will they meet again?

Show your work e
Work o
Result:  They'll meet again in days.

] Alex paid only 82

—;-% of the: regular price for 'a DVD player selling regularly for
$258,50.

a) Express the percent in decimal form, .

b) How much did Alex pay for the DVD player?

) How much did Alex save ? o R

o
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_Examine the following graph and answer the questions below.
Cost per Stadent for Education in Quebec
+ 1980-1985
Cost in dolars
1000T
200 +
600 +
400 +
200
0 L it B Sk ot
jogo  iogt 1o 1983 1984 1985
Years

;’ @What was the cost per student for education in 19827

b) The dost'per student in 1980 represents what fraction of the cost in 19857-

o State the fraction in lowest terms.
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Q The students in Michael's class were polled to find out what their favorite sports were. @

All of their answers are listed below : -

-~

Hockey . Hbdkey Baseball

Hockey ‘Baseball . Football
Football Hockey Basebaﬁ
Hockey Hockey . Hockey
Hockey Hockey ; " Baseball
Football Baseball Football
Footbalt Soccer B;xseball

Fill in the tally chart below

=

Soccer
Hockey
Hockey
Basel:)all
Hockey
Soccer

Football

Sports Preferred by Michael's Classmates

-



o) ( \
: apicg examination.

S it Fark o Thely TAHETRSC

correct BuSwer 18 shown below..

+wo students to calculate

The number of marks given for each

TYPE OF QUESTION MARKS

A- Questions with all work shown

B- Short-answer questions

ions .

C- Multiple—éhoice quest

students obtained for each type of

of correct answers the two

The table below shows the number

question.

Number of correct answers for each
type of question :

Which student, Susan ot Alice, received thé higher ma:k?'

ghow work to justify your answer.

received the higher mark.

Result



~ 2500 students ate a mea] cooked.in the cafeteria

- 800 students ate at home. : -
- 2000 students brought their lunch and ate in the student lounge.

- 600 students ate'at 5 nearby restaurant.

Draw a vertical bar graph to illustrate ﬂjese'ﬁndings.

0
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A scale model of o building was built by 2 group of students using

g scale of 1:40.

The model has 2 width of 0.5 mefres.

of the actual building 97

a) What is the width

ding is

The width of the buil

b) Express theratio 1 : 40 asa

* Fraction:

* Deciral:

W)
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5 | Julia is searching for dinosaur bonés in Nova Scotia, Canada and finds 93 prosauropod

bones. She knows that a complets prosauropod skeleton has 465 bones.

a) What pereent of the skeleton’s bones has she found 7

Worle;

Julia has found o of the prosauropod bones.

b) A few days later, Julia spots more prosauropod bones and starts digging, Whefl she
is finished, she now has a tota] of | 86 bones. < '

What percent of the bones is still missing ?

Work:

% of the bones are still missing,.

c) Julia discovered 60 % of a Tyrannosaurus rex in South Dakota, UgA If a complete
T. rex has 320 bones, then how manty bones has Julia discovered 7

Work:

Julia has discovered . bones.

2
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SEC, 1 REVIEW BOOKLET ANSWERS

p.1,23: 1)C 2)B 3D 4D S5C 6C 7B 8D 9D  10)C L

p.4,5,6,7: 1)5 2)l a)-5°C  b) wed/thurs/fri 3) 3/2, 7/8, .87, 70% ‘/
) . ‘ \ ' .. : R -

4)@%&%‘0 5)a) 16/21 b) 12 6)a) 16&19 b)3x+1l ¢} 121 7)8,-3 e

8) 2002 9) CDB ' 10) supplementary, 145°, 35° —

p.9,10,11,12,13,14,15: 1) 594 apples  2) 180 min, 3hrs, 10:15 AM ‘/ /
13,000

3} 350g potato chips, 4.666L of cola, 7 goodie bags, 21 pizzas  4) 32005 ,

5)14.8°C~ 6) Wayne 1.0%5/L 7)<FEG 50° <AEB50°  <FAB/ <EBA65° <EBC115°

p. 1b,17,18,13,20: ( 4
16,17,18,19,20 ¢ 2 3)D 4r)rc 5}5 6D 7 8D 9B L

10)p 11)A 12)D 13)A 14)B 15

p.21,22.23: 3)5%,  4)18cm 5)b) 6) <RAP30° 7) <DACS55" <DAB 30°
8) 29 squares @ %(E) ng‘ ESh / :
p.25: a)18.308 b} 915 items  c) 88 o g
D. 26; 14.74% | CONT
‘GST:1.03$ O~ i
T o4
PST: 1.185 e
TIP; 2,215 ‘ | i
Lo che oo 4 : - - S s / ,ir)
= 19165 o - ' v i
p.27:company (B) *:: L ] . )
p. 28:5)a) 1705 b) 5505 .

p.29: Top b) TABLE: a)Yukon b) Sask.
0.30:3)2% 4D 5B

p.31: 1TQUEST:A 2™ QUEST:C  g)A



p.32: (*Y Jon, Paul, Maria, Fred, Val, Monica(Last) O
p.33: TOP a) (-5+-2 +0+ 3 + -1} b) -1°c 3)a)5,7,11,13,17,19,23 b)7/11
S5

p.34: 4)a}69cm b)690 mm 5) 8 cookies

p.35: a) 300 students b)% c¢)25%

p.36: 7)72days 8) a).825 b)213.265 c) 45.245

p.37: a)700$ h)400/1000 c)2/5

p. 38: HOCKE}(=12 FOOTBALL=6 SOCC‘ER=3 BASEBALL=7

p.39: Susan(77pts} |

p. 40: (varia}

p.41; a)20m b)l/4 .025  2.5%

p.42: a) 25% b) 60% missing c)-192 bones A ()
!



